BITADERFICE THERBARENELR (FMI4F12A7)
BIEHEE  BEMSHRE=4 Radi (PA-1000)

BIESRT  REFXIIEED q{ﬂ&ﬁi& 1 & )
(BREFIIEENMEHHHEXRIE. TNENFRAEEZRE LFHEZEL)
BIES #HEE50c m (FERIEImM)
1 2R TFHEDHTE GBE1ERM)
1 Sv/h

0.300

0.250 [E#E(E]

0.200 ( NKENRNTEZEELTOSEANZITZENEEEE

L #0237/ 90 —R )L (=F/M1ZYT—RILR)
0.150
0.100
[(F1E]
0.050 — = =
0.000 T T T T T T T T T T 1
R3.12 R4.1 R42 R43 R44 R45 RAG6 R47 R4S R49 R4A10 R4A11 R4A.12
2 MERCEDBIERER

INEAR (IR E50cm)
B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
BRI VAR R4.12.8 14:15 i 0.073 KERRES0
=i E/l\?'; R4.12.8 13:50 H; 0.034 1%&535022
B H/NER R4.12.19 13:55 i 0.057 B EERFESOcm
BININERR R4.12.9 14:40 i 0.048 B EERFESOcm
{hBT /N R4.12.6 14:15 ) 0.061 B EERFESOcm
RNERINEE R R4.12.21 14:10 £ 0.068 BRBEEIFE50cm
RARINERL R4.12.14 14:30 & 0.051 B EEREFESOcm
SARF/DER R4.12.12 14:40 & 0.057 B EERFESOcm
BRIV R4.12.21 13:40 2 0.047 B EERFESOcm
MEN/DER R4.12.14 13:40 & 0.051 B EERFESOcm
IKARINERR R4.12.13 14:20 ) 0.044 B EERFES0cm
RADVINER R4.12.20 14:20 i 0.035 B EEREFES0cm
KiBINER R4.12.12 13:45 & 0.075 B EERFESOcm
£ RINERR R4.12.2 14:20 ) 0.045 B EERFESOcm
1B 1L/ R4.12.2 13:45 ) 0.068 B EERFESOcm
SHEEF /R R4.12.15 14:15 & 0.068 B EEREFESOcm
HER/DNER R4.12.9 14:20 & 0.048 B EERFES0cm

HE/NER R4.12.9 13:50 & 0.069 B EERFESOcm
BHNER R4.12.7 14:15 & 0.049 B EERFES0cm
ABINER R4.12.20 13:50 & 0.090 B EERFESOcm
IRAINER R4.12.16 14:10 & 0.064 B EERFESOcm
B/NRINERR R4.12.2 11:15 iE 0.055 B EEREFESOcm
th B/ - h AR R4.12.6 13:45 ) 0.067 B EEREFESOcm
itz /N2 R4.12.5 14:13 55 0.062 B EERFESOcm
LIER /AR R4.12.5 13:50 55 0.071 B EERFESOcm
%Aﬁ/l\'_‘q‘“—#s*c (HIFEZ50cm)
JBIE IS BIER |BIERZ] XI1Z| BIEE( Sv/h) ik
AE| =T INERR R5.1.16 9:15 (55 0.075 1 BEEFES0cm




A IR GRIER50em)

B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
BRI R R4.12.15 13:45 & 0.054 B EERFESOcm
PR GllESIm)

JBIE IS BIER | BIERZ]| XI1Z| BIEE( Sv/h) ik
EEE R4.12.8 13:30 g 0.054 % BE1m

TR gk R4.12.6 14:40 2 0.068 % BE1m

B F R4.12.19 14:10 [ 0.047 % BE1m

B AR R4.12.19 13:35 [ 0.054 ZEE1m

25 hEEk R4.12.15 14:00 g 0.054 % BE1m
KA(R 2R R4.12.14 14:10 g 0.038 % BE1m

3] [BF rh 2P R4.12.12 14:15 g 0.055 % BE1m
REFER R4.12.13 14:40 ) 0.058 % BE1m

& B2 R4.12.2 14:05 2 0.060 % BETm
R R4.12.7 13:45 g 0.075 % BE1m

e s oh 2 s R4.12.7 13:50 g 0.063 % BE1m

A B g R4.12.16 14:35 g 0.060 % BE1m

IR AN =g R4.12.16 13:50 g 0.052 % BE1m

+ F bk R4.12.5 14:38 55 0.068 ZRE1m
FAILFER GEZIm)

B E IS BIEH AERZ| XiE| BIEE(USv/h) ik
TWE) AMERZE PR R4.12.23 9:00 & 0.095 KEE1Im




YHE - -RBECLELE - REE GEIES50em)

B E IS BIEH AERZ| XiE| BIEME(USv/h) ik
FECXELVA— (IBEBEHHE) R4.12.15 13:10 i 0.079 B EERFESOcm
RiBYHE R4.12.23 11:50 i 0.067 B EERFESOcm
H RS HE R4.12.21 15:30 2 0.070 B EERFESOcm
Bz sh#EE R4.12.19 15:10 & 0.068 B EERFESOcm
MrREEE R4.12.19 14:45 & 0.055 B EEEFESOcm
MHELOSRBE R4.12.19 13:30 & 0.057 B EERFESOcm
EBLYREER R4.12.15 8:00 & 0.057 B EERFESOcm
EBERER R4.12.13 14:00 £ 0.082 B EERFESOcm
AR ECELE R4.12.15 13:10 & 0.065 B EEREFESOcm
BEIFREER R4.12.14 13:20 & 0.071 B EERFESOcm
HTE=REE R4.12.15 12:50 & 0.060 B EERFES0cm
WLHECHREE R4.12.19 13:50 & 0.066 B EERFESOcm
[FHEPFERBECELE R4.12.8 14:00 & 0.055 B EERFES0cm
{LREHE R4.12.14 13:30 & 0.057 B EERFESOcm
Cw5E588E R4.12.14 14:25 & 0.062 B EEREFESOcm
IIHHE, BEECELE. REE GIES50em)

JBIE IS BIER |BIERZ]| XI1Z | BIEE( Sv/h) ik
+ES#HE R4.12.26 16:00 [ 0.037 2% BE B FES0cm
HEHHE R4.12.16 11:00 i 0.067 3% REEIFE50cm
HE9#E R4.12.26 13:20 [ 0.092 2% BE B FES0cm
RECELEEWLCE R4.12.2 15:50 i 0.061 X JZE B FE50cm
WIEY S HE R4.12.22 15:30 [55] 0.074 R = EE50cm
DS HEE R4.12.12 15:00 g 0.048 2% BE B FES0cm
BECELEUVALESZShHHE R4.12.21 13:20 2 0.053 2% BE B FES0cm
T $hHEE R4.12.26 9:25 s 0.071 2% BE B FES0cm
WM B DM E R4.12.9 10:30 i 0.067 3% REEIFE50cm
T EDFLhFEE R4.12.23 15:45 g 0.067 2% BE B FES0cm
HEHDESHE R5.1.11 10:30 [ 0.085 2% BE B FES0cm
KARKhhIEEHE R4.12.27 13:30 [ 0.084 R EE B FE50cm
RECELREALIE R4.12.2 11:45 = 0.059 R EE = EE50cm
=SEHHE R4.12.20 14:05 g 0.060 2% BE B BES0cm
HHPYHE R4.12.13 7:45 £ 0.061 R EE B FE50cm
L\Li‘é;ﬁﬁ_t 1B R4.12.16 13:25 [ 0.074 X JZE B FE50cm
INKEEEEEE R4.12.28 15:55 2 0.073 2% BE B BES0cm
_E %,m\zmﬁ:&‘% R4.12.21 10:10 £ 0.054 X JZE B FE50cm
HRERREE R5.1.10 10:00 [ 0.068 R EE B FE50cm
B EEEEEE R4.12.26 13:00 [ 0.070 X JZE B FE50cm
TILARER R4.12.14 11:10 g 0.078 % BEEFE50cm
HKLAIFREE R4.12.26 9:50 [ 0.055 2% BE B BES0cm
OV-bBE2RE R4.12.27 14:20 i 0.062 R B BE50cm
ZEXKGRECELE R4.12.26 13:30 [ 0.061 R EE B FE50cm
FHDEREE R4.12.16 14:00 [ 0.056 2% BE B FES0cm
hAUITREE R4.12.23 14:20 [ 0.065 2% BE B FES0cm
HZLEEEBE R4.12.28 9:30 2 0.067 2% BE B BES0cm
e REE R4.12.2 10:00 i 0.078 R ZE = BE50cm
EEEREECELE R5.1.11 14:30 [ 0.064 X JZE B FE50cm




